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1 a) 2X° +4X - 3. f) If two sides of a triangle are
b)_8X - 3y. equal, the angles opposite them
c) Ox° + 18x - 8. are equal.
d) 36x% + 12xy + 2. 5. a) £S=45". (Since EV1 VS, /Visa

5 ) AG— G

b) If two angles of a triangle are

equal, the sides opposite them

are equal.

SAS

not enough information to state
that they are congruent

ASA

not enough information to state
that they are congruent

3. a)

b)

©)
d)

45558

b) Corresponding parts of

congruent triangles are equal.

¢) A triangle is equilateral if all

of its sides are equal.

d) An equilateral triangle is

equiangular.

e) A triangle is isosceles if it has at

least two equal sides.

right angle and so £V = 907

£85=180"-90"-45"=45")

b) AVES is a right triangle and

it is also isosceles.

c) E 2=EV2+V52.

d) 932 =x2 + x%; 2x> = 8,649;

=432 5 x= 00 VS s

approximately 66 million miles.



Julie Ryle
SAS

Julie Ryle
not enough information to state 
that they are congruent

Julie Ryle
ASA

Julie Ryle
not enough information to state 
that they are congruent


b)

c)

d)

e)

d=V(x; - X, P + (V2 - Vi)

\\0/4 5
D N

AB=V(5-2P+(4-0P =32+ 42

s Wl P5—5.

CD = V(-2 - -3P + (-1-27

=vVI2+(-3P=V1+9= V10.

(-1, -4).

56 77 Geometry: Seeing, Doing, Understanding

Given: C is the midpoint of AD; £1 and /2
are vertical angles; ZA = /ZD.

Prove: AB =DE.

Proof:
Statements Reasons
|. Cis e midpoint [I. Given

of AD.
2.AC=CD

3. L\ & 42 are
vertical  ayle

4 Lv= 42

5. £LA=<p

b- AABC = DADEC

7. Ae=DE

2. The widpoint of a line
eeﬂmm*‘ divides i \nfo fwo

q;vmt ports.
3. Given

K. Nertical angles are equal

5. (Diven
b. ASA

7. CPCTC



